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(a) sin(30) = 3(‘/002(9 sinl - Sindﬁ = 3em& - %Sr‘njﬁ
b) cos3) =| OO -3 CHRGsinG = 4 s~ 3 ca
© sin4)) =| 4Sin@ oa0(1-2sm0)

@ cos(4) = §eosd -9 cos0 4 [
hint: (cos(f) + jsin(f))™ = cos(nf) + j sin(nf)
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log(AB) = log(A) + log(B)  log(4?) = plog(A)
. (%) — log(A) — log(B) ti L —logyz
logy2 ~ 0.3010 logy 3 ~ 0.4771
log1o5 ~ 0.6990 logo 7 ~ 0.8451
@ logoi2 =| 1.079]
(b) logip18 =| [.2552
(©) logo2s =| 1.3980
(d) log3s =| 1.5 %«
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) lgo(d) =| —0.9030
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(@ lglG) =[(E +27TR) "’jﬂf(gl"*ﬂz)
(b) log(1+j) = ~2’—&42 +j(zf—3+2é7t) = .i’QQI,.)_ "f"j?’T('é' +2f)
(© log(-1) =|j(mt2k7T) =3m({+2k)
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